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1. (15%) What are the possible uses or advantages of appiying the following
technologies in technology enhanced learning (e-learning)?

a. (3%) Web

b. 3%) Database

C. (3%) Wireless and mobile technologies

d. (3%) Artificial intelligence

€. (3%) Multimedia

2. (15%) Explain and give an example of the following terms:
a. 3%) CAI (Computer Assisted Instruction)
b. (3%) Web-log (BLog)
¢. (3%) Wiki '
d. 3%) ITS (Intellige;lt Tutoring Systems)
¢. (3%) CSCL(Computer supported collaborative learning)

{
i

3. (15%) The following coding will generate errors when it is compiled. Why? Please
correct the coding. (Hint: polymorphism)

import javax.swing.JAinlet;
public class myApplet extends JApplet

public int foo(double x)

return x * x;
}
public double foo(double y)
{ |
returny * y;:
} r :

}

4.(25%)Given a binary tree T,
a. (8%) Write an algorithm(in subroutine form)that counts the number of nodes in T.
b. (8%) Write }m algorithm(in subroutine form)that counts the number of leaves in T,
¢. (9%) Using’the above two subroutine, write an algorithm that determines if T is a
complete binary tree.

5. (30%) What will be printed when the following p}ogram is executed ?
#include <stdio.h> _

void a(void); /* function prototype */

void b(void); /* function prototype */

void c(void); /* function prototype */

intx=10;  /* global variable */
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int main()
{ intx=7; /*local variable to main */
printf("local x in outer scope of main is %d\n" x);
{ - I* start new scope */
‘ int x =4;
* printf{"local X in inner scope of main is %d\n",x);
} /* end new scope */
printf("local x in outer scope of main is %d\n",x);
a(); /* a has automatic local x */
b(); /* b has static local x */
c(); /* ¢ uses global x */
a(); :
b();
(s :
printf("local x in main is %d\n" x);
return 0;}
void a(void)
{ ‘ .
int X =20;/* initialized each time a is called */
printf("\nlocal x in a is %d after entering a\n",x);
++X; . ' o
printf("local x in a?is %d béfore exiting a\n" x);
} i A
void b(void)
{ ,
static int x =20;  /* static initialization only*/
printf("\nlocal static x is %d on entering b\n" x);
++x;
printf("local static x is %d on exiiing b\n" x);
} .
void c(void)
{
printf("\nglobat x is %d on entering c\n",x);
++x;

printf("global x is %d on 'exiting c\n"x);

}
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